
 

 

 

USER MANUAL 

 

DROP ARM BARRIER 
  



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 2 

CONTENTS 

 

1. LAYOUT ........................................................................................................................ 3 

Figure 1: Typical layout of Drop Arm Barrier .............................................................................. 3 

2. PREPARATION FOR INSTALLATION .......................................................................... 5 

Figure 2: Installation clearance for the Drop Arm Barrier ............................................................ 5 

Figure 3: Base positioning & bolting holes ................................................................................. 6 

3. PARTS .......................................................................................................................... 7 

Figure 4: Drop Arm Barrier assembly ......................................................................................... 7 

4. OPENING & INSTALLATION ....................................................................................... 8 

5. CONNECTIONS AND SETUP ........................................................................................ 9 

Figure 5: Locations of components & over-ride screw ................................................................. 9 

Figure 6: DAB700TUR Controller & Connections ....................................................................... 10 

Figure 7: Client trigger connections ......................................................................................... 11 

6. POWER SUPPLY AND VOLTAGE SELECTION ............................................................ 12 

Figure 8: Power supply mains change 220v - 110v ................................................................... 12 

7. MECHANICAL OVERRIDE ON POWER FAILURE ...................................................... 13 

Figure 9: Mechanical Over-ride ............................................................................................... 13 

Figure 10: Mechanical Over-ride Rotation of screw ................................................................... 14 

8. CONTROLLER SWITCH SETTINGS ............................................................................ 15 

9. DRAWINGS ................................................................................................................ 17 

 

  



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 3 

1. LAYOUT 

1.1. Below is a typical layout for the drop arm. A plinth is required to be 400x250 wide and long, 
and 200mm deep. The concrete should be at least 15MPa strength, or to a civil engineers’ 
specifications. 

 

Figure 1: Typical layout of Drop Arm Barrier 



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 4 

 

1.2. The Barrier should be bolted down using 4 x RAWL sleeve anchors, M10 hex head cap 
screws at least 100mm deep. 

1.3. There is a 95 x 45 opening on two sides off the centreline for power & control cable 
allowance. 

1.4. The Barrier has a built-in controller and power supply and requires 220v AC 50Hz single 
phase power to be led to it. (For USA installations supplying 110V, see section 6) 

1.5. The controller uses a common and a trigger for left opening and a trigger for right opening, 
normally open contact. These should be a dry contact pulse for 0,5 seconds. 

1.6. Emergency hold open can be triggered from the terminal panel (see paragraph 5.6, page 
11.). The trigger requires a latching contact to remain open (The emergency mode is active 
if the contact is closed.).  

1.7. There is allowance for a reception trigger, which can be used with a remote or a 
pushbutton placed at the reception desk. The trigger has a push-to-open, push-to-close 
function.  



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 5 

2. PREPARATION FOR INSTALLATION 

2.1. Below is a typical view for clearance required by the Barrier. At least 10mm is required at 
the back. At least 50mm is required from the arm edge to a wall and this should be no 
more than 100mm. 

 

 

Figure 2: Installation clearance for the Drop Arm Barrier 

 

2.2. Ensure the mounting area concrete strength is adequate and that a conduit is prepared for 
power & control cables. Also check that the floor is level and smooth. 

2.3. The conduit should be flush with the floor and the power & control cables must extend +- 
1000mm from floor level to reach the connection terminals. 

 



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 6 

 

Figure 3: Base positioning & bolting holes 

 

2.4. The base should be placed correctly positioned, with the centreline (CL) aligning with the 
centre line of the installation. 

2.5. Place the base, mark the holes with chalk. Remove and drill holes in concrete. 

2.6. Bolt down the base assembly using the 4x bolting holes and suitable M10 Capscrew 
anchors. 

  



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 7 

3. PARTS 

3.1. Below is an exploded view of the drop arm Barrier and its main parts. 

 

Figure 4: Drop Arm Barrier assembly 

  



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 8 

Item Qty Description Part Number 

1 1 Frame Assembly DDA-WM-01 

2 1 Front Cover DDA-WM-07 

3 6 M6x12 Buttonhead Capscrew, A2 M6x12-BHCS-A2 

4 1 Top Cover DDA-WM-06 

5 4 M6 Hex Nut, A2 M6-HN-A2 

6 2 Side Cover DDA-WM-09 

7 24 M6x12 Sockethead Capscrew, ZP M6x12-SHCS-ZP 

8 1 Back Cover DDA-WM-08 

 

4. OPENING & INSTALLATION 

4.1. To open the structure, remove the M6 x12 buttonhead screws (3) on the front cover using 
a 4mm allen hex key. Lift off the front cover (2). 

4.2. Remove the top cover (4) by loosening the M6 hex nuts (5) on the plate below and remove 
the side covers (6) by loosening the M6 x12 socket head screws (7) at the base. Lift off the 
top and side covers. 

4.3. Remove the back cover (8) by loosening the M6 x12 socket head screws (7) at the bottom 
and at the top. Lift off the back cover. 

4.4. Place the base on the floor over the conduit points as shown in Figure 3: Base positioning & 
bolting holes. Mark the hole positions for the holding down bolts as shown. 

4.5. Drill the holes for the bolts and ensure that this lines up with the base holes. 

4.6. Pull the cabling through the conduit points of the base, pull the cabling through to lead to 
the controls and mount the base down securely. 

4.7. Connect the power and controls (see section 5) and test before replacing the body panels. 

  



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 9 

5. CONNECTIONS AND SETUP 

5.1. In the DAB700TUR controller, the most used triggers are wired to the terminal rail. 

5.2. The power connections for mains power are located on the black connector block. 

 

Figure 5: Locations of components & over-ride screw 

 



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 10 

 

Figure 6: DAB700TUR Controller & Connections 



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 11 

5.3. Connect 220v AC live power as shown in the diagram Figure 6: DAB700TUR Controller 
& Connections. 

5.4. Connect the terminals 1 and 4 (trigger A and ground), and the terminals 2 and 4 
(trigger B and ground) to control direction 1 and 2. These are normally open dry 
contacts and require a pulse of 0,5 seconds closing the contact. 

5.5. Connect terminals 1 and 4 as a latching trigger to control the emergency opening. If 
the contact remains closed, the Barrier will stay open. 

5.6. Connect the terminals 3 and 4 (toggle trigger and ground) to use as an opening 
latch for a remote control or push button at the reception desk. 

 

Figure 7: Client trigger connections 

  



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 12 

6. POWER SUPPLY AND VOLTAGE SELECTION 

6.1. The power supply has a switch that should be set for either 220V or 110V (for USA 
installations). Remove the front screw, slide the perforated top back and up to 
remove, to access the switch. 

 

Figure 8: Power supply mains change 220v - 110v 

  



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 13 

7. MECHANICAL OVERRIDE ON POWER FAILURE 

7.1. The Drop Arm barrier is geometrically locked even on power failure (and if batteries 
have been depleted) and the arm can be unlocked by turning the override screw 
located at the side of the barrier.  

7.2. Using a number 8 Allen Head Key, turn the screw either anti-clockwise from the left 
or clockwise from the right of the barrier. Push the barrier arm down and into the 
cabinet. 

 

 

Figure 9: Mechanical Over-ride 

 



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 14 

 

Figure 10: Mechanical Over-ride Rotation of screw 

 

7.3. When power is restored to the unit, it will automatically reset, and the arm will 
return to the up position. 

 

  



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 15 

8. CONTROLLER SWITCH SETTINGS 

Switch Function On Off  

1,2 Barrier Open Speed - Slow - S1, S2 Controls the opening speed of 
the Barrier. The options are 
slow, medium slow, medium 
fast and fast. 

1,2 Barrier Open Speed - Med. Slow S1 S2 

1,2 Barrier Open Speed - Med. Fast S2 S1 

1,2 Barrier Open Speed - Fast S1, S2 - 

     

3,4 Barrier Close Speed - Slow - S3, S4 Controls the closing speed of 
the Barrier. The options are 
slow, medium slow, medium 
fast and fast. 

3,4 Barrier Close Speed - Med. Slow S3 S4 

3,4 Barrier Close Speed - Med. Fast S4 S3 

3,4 Barrier Close Speed - Fast S3, S4 - 

     

5 Barrier Motor Direction CCW CW Controls the Barrier motor 
direction which is normally 
clockwise. 

6 Spare - -  

7 Spare - -  

8 Spare - -  

9 Spare - -  

10 Spare - -  

11 Open Trigger Memory ON OFF Trigger memory for storing 
multiple triggers. This is by 
default off. 

     

12,13 Auto Close Timer – 6 Sec - S12, S13 



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 16 

12,13 Auto Close Timer – 10 Sec S12 S13 Controls the time the Barrier 
pauses after fully opening 
before closing again. The 
options are 6, 10, 15 and 20 
seconds. 

12,13 Auto Close Timer – 15 Sec S13 S12 

12,13 Auto Close Timer – 20 Sec S12, S13 - 

     

14,15 Close Delay – 0 Sec - S14, S15 Delay before closing after the 
closing signal from a toggle 
trigger is received. The options 
are 0, 0.5, 1 and 2 seconds. 

14,15 Close Delay – 0.5 Sec S14 S15 

14,15 Close Delay – 1 Sec S15 S14 

14,15 Close Delay – 2 Sec S14, S15 - 

     

16 Safety Buzzer ON OFF Buzzer sound on wrong 
direction entry. 

17 Spare - -  

18 Trigger Hold Open ON OFF Hold open function for trigger if 
contact is closed indefinitely. 

19 LEARN MODE – Switch ON for 5 
seconds 

ON OFF For factory settings. 

20 Test Mode – 2 Second Auto Cycle ON OFF 

 

  



TURNSTAR

Drop Arm Barrier - USER MANUAL  Doc: DDA-UM 

 

 
Turnstar Systems Pty (Ltd)  
P.O. Box 41, Highlands North, 2037, RSA   
Tel: +27 11 786 1633                           Edition 0.1 (21-04-2022) 
E-Mail: info@turnstar.co.za © Copyright Turnstar Systems 2022 Page 17 

9. DRAWINGS 

9.1. Drawings that are included with this manual is listed below: 

9.1.1. DDA-AS-01 – Rev. 10 (Sheet 1 & 2) 

9.1.2. DDA -SA-05 – Rev. 10 

9.1.3. DDA -SA-06 – Rev. 10 

9.1.4. DDA -SA-07 – Rev. 10 

9.1.5. DDA -SA-14 – Rev. 10 

9.1.6. DDA -SA-17 – Rev. 10 

9.1.7. DDA -SA-18 – Rev. 10 

9.1.8. DDA -SA-20 – Rev. 10 

9.1.9. 1417-WD-01 – Rev. 0 

9.1.10. 1417-WD-02 – Rev. 0 

 





977

171

900
38

990



106



50

1,6



1,6

50

70



423

31,2
85,4



7210





212

204



L
E
D
S

E
X
IT

 E
N
T
R
Y
 B

L
U
E

C
O
M
 E

X
IT

 E
N
T
R
Y

0
V
 +

2
7
.6

V

ENTRY TRIGGER

EXIT TRIGGER

TOGGLE TRIGGER

SAFETY TRIGGER

ENTRY EOT

EXIT EOT

M
O

TO
R

 P
LU

G

1
2

3
4

5
6

7
8

9
10

11
12

13 1
2

3
4

24V
0V

T2
: 2

4V
 P

O
W

ER
 S

U
PP

LY
 B

A
TT

ER
Y

M
A

N
A

G
ER

B+
B-

12
V 

7A
H

B
A

TT
ER

Y
12

V 
7A

H
B

A
TT

ER
Y

+
-

+
-

RED

BLACK

L2
L1

N
EA

T1
: M

A
IN

S
C

O
N

N
EC

TO
R

B
LO

C
K

T3
:

TE
R

M
IN

A
L

B
LO

C
K

T4
: 2

4V
B

A
TT

ER
Y

PA
C

K

T5
: D

A
B

70
0T

U
R

 C
IR

C
U

IT
B

O
A

R
D

24
V 

B
LD

C
 M

O
TO

R

G
N
D

19
9

13
12

11

20

4
5

14
15

16

17
18

17
18

19
20

14
15

16

T6
: E

N
TR

Y 
LE

D
 S

TR
IP

T7
: E

XI
T 

LE
D

 S
TR

IP

12 33

55

E 14

T8
: E

N
TR

Y 
SE

N
SO

R

T9
: E

XI
T 

SE
N

SO
R

+
24 0V

NO

+
24 0V

NO
4 45 510 10

14
17

-W
D

-0
1

0

---
-

---
-

---
-

---
-

Ch
ec

ke
d:

Ap
pr

ov
ed

:

DE
SC

RI
PT

IO
N:

NU
M

BE
R:

RE
V:

D
AB

70
0T

U
R 

D
RO

P 
BO

X
CO

N
TR

O
LL

ER
 W

IR
IN

G
D

IA
G

RA
M

CL
IE

NT
:

22
/0

4/
20

22
Er

ic 
Sw

ar
t

DI
M

EN
SI

ON
 T

OL
ER

AN
CE

S
(U

nl
es

s 
ot

he
rw

ise
 s

pe
cif

ie
d)

:
SC

AL
E:

 N
TS

FR
OM

:
TO

TO
LE

RA
NC

E
0

25
+

- 0
.2

5
26

10
0

+
- 0

.5
0

10
1

25
0

+
- 1

.0
0

25
1

50
0

+
- 1

.5
0

50
1

10
00

+
- 2

.5
0

10
01

+
- 3

.0
0

>

AP
PR

OV
AL

S:
Dr

aw
n:

PA
GE

 S
IZ

E:
 A

4

--
--

--
--

Tu
rn

st
ar

 S
ys

te
m

s 
(P

ty
) L

td
.

18
, 6

th
 S

tre
et

W
yn

be
rg

Sa
nd

to
n

20
90

So
ut

h 
Af

ric
a

Te
l: 

+
27

(0
)1

1 
78

6 
16

33
Fa

x:
 +

27
(0

)1
1 

44
0 

58
39

PR
OJ

EC
T 

#:

PR
OJ

EC
T:

SI
TE

:

14
17

D
YN

AM
IC

 D
RO

P 
AR

M



1
2

3
4

24V
0V

T3
:

TE
R
M
IN
A
L

B
LO

C
K

E TR
IG

G
ER

 A

TR
IG

G
ER

 B

TO
G

G
LE

 T
R

IG
G

ER
 A

G
R

O
U

N
D

14
17

-W
D

-0
2

0A

---
-

---
-

---
-

---
-

Ch
ec

ke
d:

Ap
pr

ov
ed

:

DE
SC

RI
PT

IO
N:

NU
M

BE
R:

RE
V:

PA
G

70
0V

02
 D

RO
P 

AR
M

CL
IE

N
T 

CO
N

N
EC

TI
O

N
S

CL
IE

NT
:

22
/0

4/
20

22
Er

ic 
Sw

ar
t

DI
M

EN
SI

ON
 T

OL
ER

AN
CE

S
(U

nl
es

s 
ot

he
rw

ise
 s

pe
cif

ie
d)

:
SC

AL
E:

 N
TS

FR
OM

:
TO

TO
LE

RA
NC

E
0

25
+

- 0
.2

5
26

10
0

+
- 0

.5
0

10
1

25
0

+
- 1

.0
0

25
1

50
0

+
- 1

.5
0

50
1

10
00

+
- 2

.5
0

10
01

+
- 3

.0
0

>

AP
PR

OV
AL

S:
Dr

aw
n:

PA
GE

 S
IZ

E:
 A

4

--
--

--
--

Tu
rn

st
ar

 S
ys

te
m

s 
(P

ty
) L

td
.

18
, 6

th
 S

tre
et

W
yn

be
rg

Sa
nd

to
n

20
90

So
ut

h 
Af

ric
a

Te
l: 

+
27

(0
)1

1 
78

6 
16

33
Fa

x:
 +

27
(0

)1
1 

44
0 

58
39

PR
OJ

EC
T 

#:

PR
OJ

EC
T:

SI
TE

:

14
17

D
YN

AM
IC

 D
RO

P 
AR

M


	Sheets and Views
	1417-WD-01

	Sheets and Views
	1278-WD-02


